Notes: 4.3 Logarithmic functions

glven: y=a* —> Inverse: x=a’
L(swap domain and range)
a¥=x 1s equivalent to y=Ilog.x
Example: y=1logd2 (or log:d2 =1y}

S5 rewiteas 2 =32
5
- get like bases 2'=9

therefore y =9 |so...109,32=5




NOTES: Inis an abbreviation from the Latin
name “logarithmus Naturalis”

log.x = normally written as Inx

e* and INX are inverses
10* and logx are inverses

2* and lOog,x are inverses

* The graphs of
Inverses are
symmetrical

across the
liney = x.
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- You will be asked to sketch these without
a graphing calculator on the quiz and test.

NOTE:
Exponential graphs have a horizontal asymptote aty = 0.
Logarithmic graphs have a vertical asymptote at x = 0.



Today’s assignment: 4.3 #30,32, 1-7o0dd, 25-430dd
NO CALCULATOR!!

30. a) log.125 =X b) log,,7 = X
SX =[5 rewnte in LHZX - ;
Show—> 5A _ 63 QXPonQM'Iaf ‘me 7 = 7
K2 B 2 x =1
pase>  [A=5 =L
¢) log,v3 =X ->Write given info, then
q* = 3 rewrite in a different
I ) :,_J-_{
% oL %X >3 form and solve.
5 :‘j/ v - Get matching bases
2473 f on both sides when
possible.




32.

1

In
N =InGl Ing % = ok | loge * =3

D=7 Y= 1Y




33. Note: decimals are not a user-friend

y form when

working with exponents and

a) log,0.25=x

Veewnte as a trachon
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Solve
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logarithms



